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Non-Calculator

1) The highest elevation in a small country occurs on a mountain 1,562 meters above sea
level, while the lowest elevation in the same country occurs at 38 meters below sea level.
What is the difference in elevation between the highest and lowest points?

2) The value of one share of stock was $25.29 on Monday. The changes in the value of the
stock over the week are listed in the table.

Changes in the Value of Stock

Day of Change in
the Week Stock Value($)
Tuesday ~0.51
Wednesday 1.17
Thursday "0.24
Friday -0.63

What was the value of the stock at the end of the day on Friday?

3) Identify the following fractions as terminating or repeating?
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4) An insurance salesperson earns a 5.5% commission on every piece of automobile insurance
that she writes. What is her commission if she sells a policy that has a $1600 premium?

A) $8.75 B) $8,800.00 C) $880.00 D) $88.00

5) Harris Teeter advertised apples at $3.25 for 4 pounds. Publix advertised 6 pounds of apples
for $5.25. Find the unit rate for each grocery store and determine the better buy.

6) Which expression is not equal to i—Z?
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7) The formula C = g (F —32) converts Fahrenheit (F) temperature to Celsius (C) temperature.

An Australian was visiting Maine and saw on a sign that it was -8°F outside. Convert it to
degrees in Celsius so that the Australian can understand the temperature.

A) -27°C B) -23°C C)-25°C D) -15.5°C

1
-5 [3%+ -17]-(-8)
—4 -2

8) Simplify the following problem:

A)—% B)-6 C)—1—18 D) -2

9) Katie receives a weekly allowance of $12.60. She receives % of her allowance each day. How

much allowance does Katie receive in one day?

10) The table shows how much a store charges for certain numbers of pencils.
Number of pencils (p) Cost (¢)
4 $0.72
7 $1.26
12 $2.16

Based on the table, which equation could be used to calculate the cost, ¢, of any
number of pencils, p?

A c=0.09
B c=0.18p
C c = 0.54p
D c=0.72p

11) Robert mixed 3/4 liter of yellow paint with 1/3 liter of red paint to make a batch of orange
paint. When he needed more orange paint, he used exactly 2/5 liter of red paint. Using the
same ratio, how many liters of yellow paint should Robert use to make the new batch of
orange paint?



